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Communication LEVEL

1. Expand and simplify

a) 3x(x+y) - 6)0x —2y) J b) (4a — 2b)(6a + 5b)
=3"a*3‘{7"(oxy+'3ya = 244% 4+ 20ab ~1dab - 105
= 2 -3y sza “ = A4a”+ Bab-106"~

[3] [2]

2. Solve and Check

T_Tzl 22 CHECK:
: xX-2 _ x+1Y _ Js Ls.=" 224)°
AN 2 ={a(l) _aq ( )
e B(x-R) - H(x+)) = | = T '3
' 3x-G-4x-4=121 ==C+7 S
So=Xx=10= 12 15

o= X= = Reoe
[4] ~ ’k‘:ﬁ‘//

3. For the following function below, state the vertex, equation of the axis of symmetry, the maximum
or minimum value, y-intercept, values x variable may take and values y variable may take.
y=—4x?+8x—2

y= -4(+’ -dx) -2
= -4 (+?-2x+1-)) -2 o
= =4 (x*-2xHl) +4 -2
= —4(x- 1Y+
vertex: (|, )Y y-in-l':-?\\{/

ax:sa-f m: %= 1Y Domain = TR
maxv«lue-?.\/ Rargc- gyGRly 23/

[8]

4. Factor
a) 9x%y 4+ 6xy® — 3x3y* b) y*-8y+15 c) 49b* — 25¢2 d) 12p® — 21p? + 28p — 49

= 3xy(3x47-%"y) = (-5)y-3) [ (TE-5XEED =3F(4p-7)+7(4p-T)
7Y A v =tp-2X3p2T)

[2] [1] [2] [2]

5. Solve, using the appropriate method. Provide exact solutions.
a) 10x2—-21x+9=0 b) —5x2 =2x -2

L 10x°-15%-6x+9 = O / =5x?-2Ax+A =0 v

©. Sx(dx-3) =3(x-3)= 0 . x_-_ﬂi"\’f-z?-«-s‘x;p_z/
Sx(3x 3) 3( X / 205

@50 | REVTE
. Ax-3=0 or 5x-3=0 - 210 L
=...§- 1 4 = l ztaﬁ - — lt ]
@ XTRC x=3 v [4] = -:o' -85




6. A quadratic expression of the form x* + 10x + ¢ can be factored in the form (x +a)(x + b), where a
and b are whole numbers. Another quadratic expression of the form x? + 12x +d can be factored in
the form (x +e)(x + f), where e and f are whole numbers. Which do you think is greater: c or d?

Why? .2 .. max yalues o)cc and d
(x+aXx+h) = &%+ (atb) x +ab respec+ivel)! are .~

B (xreXx+f) =x’(e+rf)x+ef
50)=4S5 ahd 6(6):3(9

" C:.“Glb) d:e‘y)o\-llo.:‘lo/ cd’s max velue is 3““4‘,,

and e++ =12 _Fthan s mox walve BUT
c con be grecﬂ'{r than d

7. For what value(s) of k will the function 2x? — 4x + k = 0 have: (eg' c:s(g):lg} ol::l(l[):”)

A L ik
Lew-pak<or” L g=a
l6-8k<O

o le<8K S
c. A<K (or k>2)

8. A Frisbee is thrown up in the air from a position 2m above the ground. Because of
the wind patterns, the height h, in metres after time t, in seconds is given by the formula

h=-2t>+61+2.

[2, 1]

a) What is the maximum height of the Frisbee? Present the answer to the nearest tenth.

h= -2 et 12 Since the vertex of
o = .-a(-t:_}(.) o the pamloolq s (8

a the maximum kel‘oln t 7
= —a(¢* "'3}"(%)'(5)"'3 s 2 o,
/3 .
=~ (-I:-%;) + A
b) When did it reach the maximum height? Present the answer to the nearest tenth.

[1] The maz;mum “'{Sl'-(- was “H"i“‘%\,ﬁgxg%;;g)

c) If the Frisbee is caught 2 metres above the ground, how long will it have been in the air?
h=2 qt=0 ort-3=0
© 4£=0 or =3
[2] g YV = -\ . ‘

=226t =0 -
e -2t (+-3)=0 'r"’f s '2“‘.55“"5
rabolo

9. The length of a hypotenuse of a ri triangle is 15 cm. The'sum of the other two sifes is 21 )
Find the lengths of the oth sides of the triangle. (Hint: Lingar-Quadratic System)

heorem, g * 20—
Awlicruiage s Vet
Since Y‘-'-—‘c;zl -X < ('k -1 X"‘"”‘1)""-0
- fx;fcm-x)’---aag' ;::jmj’ _,:;;B

10. What does it mean solve ; Ii'r.'learxsyst-:m‘fz.’a::sftfmx O:rzzlfaﬁcf;s?{éléo{v i‘;as‘:gh':'ssjs’t\es ?,.(:\
For &8'$jstem of L linear e@aa‘f“;ons N R unknowns 12 ch

X'and vy, _this mews 40 500 values oF x and y that

satisfy ¢ OTH uﬁ 0"'5-k5':d\°t :sl);.sfem can {o)% ?’ffd .!’7 }‘/
Uminotts J untitho . s o Ivale AN Ehe

climnding one of he wrknsins. Ths 1 epuviet o

[4] y /



